Christmas In July 2018

Terms and Conditions

PROMOTIONAL PERIOD

- 1. The Christmas In July 2018 (the **Promotion**) commences on 25/6/18 and concludes on the various dates as set out in clause 2 below (the **Promotional Period**)" and is conducted at the following participating venues: Caulfield Glasshouse, Steeples, Croydon Hotel, Highways, The Grand Hotel, Junction Hotel, Stoney's, Golden Fleece Hotel, Sugar Gum Hotel and The Cove (each a **Venue**).
- 2. The major prize draw events will take place at the following Venues between July 25th and July 27th from 8pm:

a.	The Grand Hotel	Wednesday 25 th Jul
b.	Junction Hotel	Wednesday 25 th Jul
c.	Golden Fleece Hotel	Wednesday 25 th Jul
d.	Sugar Gum Hotel	Wednesday 25 th Jul
e.	The Cove	Wednesday 25 th Jul
f.	Caulfield Glasshouse	Thursday 26th July
g.	Steeples	Thursday 26 th July
h.	Croydon Hotel	Thursday 26th July
i.	Highways	Thursday 26th July
j.	Stoney's	Friday 27 th July

ELIGIBILITY

- 3. In order to participate in the Promotion patrons must not have been excluded from any Pegasus Leisure Group venue (whether by self or otherwise).
- 4. By entering or participating in the Promotion each eligible participant agrees to abide by these terms and conditions and the Pegasus Rewards Membership Rules (to the extent that such entrants are Pegasus Rewards Members).
- 5. Employees, management and licensees of the Victoria Amateur Racing Club (incorporating the Melbourne Racing Club) (the **Promoter**), its related parties and their families are ineligible to enter the Promotion.
- 6. The Promoter may determine in its absolute discretion the eligibility or ineligibility of any person.

ENTRY REQUIREMENTS

(A) Pegasus Rewards club members

DAILY KIOSK SWIPE

7. Pegasus Rewards Club members will receive one entry daily when they swipe their membership card at the member kiosk at Venue. Each member will be able to receive a maximum daily kiosk swipe entry of one per Venue visited per day. Once printed, the entry is automatically entered into the ticket spitter, the official entry barrel located in Venue.

8. Upon joining as a Pegasus Rewards Member during the Promotion Period, the new member will receive 1 entry in respect of the Venue in which they have become a member.

IN EGM

- 9. Pegasus Rewards Club members will automatically receive the following entries each time they insert their membership card in any electronic gaming machine card reader. Each entry will be printed directly into the official entry barrel located in Venue:
 - a. CRYSTAL MEMBERS -5 entries
 - b. PLATINUM MEMBERS 3 entries
 - c. GOLD MEMBERS 2 entries
 - d. SILVER MEMBERS 1 entry
- 10. All in egm entries will be capped at 5 insertions per day.
- 11. Members are under no obligation to game or turnover any minimum spend in order to participate in the Promotion.

ENTRY VIA IN VENUE CASH PURCHASES

- 12. Pegasus Rewards Club members will receive 1 official entry into the Promotion each time they make a cash purchase in any food and beverage outlet (of any value) at Venue (up to a maximum of 2entries per day).
- 13. Pegasus Rewards membership cards will need to be swiped to be eligible it is the responsibility of the member to present their membership card at time of purchase.
- 14. All entries will be automatically printed into the official entry barrel.

(B) Non-Pegasus Rewards Club Member Entry

- 15. Patrons who are not Pegasus Rewards Club members are eligible to enter the Promotion by completing a \$10 or above in venue purchase at Venue.
- 16. Patrons will receive one official entry for each transaction of \$10 or above and will be required to complete their contact details and place the entry into the official barrel.
- 17. Tickets may also be distributed to venue patrons at the discretion of Participating Venue staff, without requiring a qualifying purchase.

WEEKLY DRAWS

Each Sunday evening during the Promotion Period at approximately 8pm, each participating Venue will conduct weekly draws to determine entrants who will be eligible to attend the Christmas in July major prize draw.

- 18. 10 entries will be drawn from the official entry barrel by venue staff and broadcast in Venue via the in room public address system.
- 19. The patrons drawn will be notified by venue management and advised that they have been selected to attend the official Christmas In July draw event (venue staff will advise the day and time of the major draw event)
- 20. This weekly draw process will continue each week during the Promotion Period resulting in 40 patrons invited to attend the official major draw event at each Venue.

- 21. Patrons can be drawn more than once during the Promotional Period to be invited to the official major prize draw event and will therefore hold several entries into the major prize draw
- 22. The official entry barrel will be cleared each week following the Sunday evening draws.

MAJOR PRIZE DRAW EVENT

The major prize draw will be conducted at each Venue on the dates set out in clause 2 above.

- 23. At approximately 6pm the 40 patrons drawn via the previous 4 weekly draws are invited to attend and be present in Venue.
- 24. Patrons who are not able to be present for the major prize draw can nominate a proxy to replace them and this will need to be communicated direct to venue management in advance of major prize draw.
- 25. Should a daily winner (or proxy) not be present at the Venue for the major draw, Venue staff will represent them on their behalf senior venue management will contact the winner to notify them to collect their prize at the Venue.
- 26. In addition to the 40 invited patrons 10 BONUS DRAW entries will be awarded on the night to participate in the major prize draw.
- 27. All 50 entries will be placed into the major prize barrel.
- 28. Of the selected 50 patrons (40 x weekly winners & 10 x bonus winners) 30 names will be then be drawn to participate in the prize draw.
- 29. The 20 patrons not selected to participate in the final prize draw will each receive a \$20 venue voucher, if a member has more than one entry they can receive more than one \$20 venue voucher.
- 30. Each of the selected 30 patrons will then be asked to select 1 of 30 Christmas boxes.
- 31. Each box contains a prize.
- 32. Each winner will have their details published via the Venue's social and/or digital media channels for 28 days following the draw.
- 33. Patrons can be drawn more than once during the Promotion Period.
- 34. In the event a patron drawn cannot be readily identified, contacted, or does not collect their prize within 14 days of being notified of their win, the Venue may draw an additional entrant's name in respect of that prize.

THE PRIZE OR PRIZES TO BE WON

35. Caulfield, Croydon, Highways and Steeples

QTY	MAJOR PRIZES	RRP	Total RRP
2	Lavazza Coffee Machine	\$79	\$158
1	Instax Mini Camera	\$99	\$99
1	Lenovo Tablet	\$99	\$99
2	Propel Star Wars Drone	\$199	\$398
2	Apple TV	\$209	\$418
2	Nutri Ninja	\$229	\$458
2	Sony Google Smart Speaker	\$248	\$496
1	LG 42Lt Microwave	\$319	\$319
2	UE Megaboom	\$348	\$696
2	Sony HiFi	\$399	\$798
2	Xbox One Entertainment Bundle	\$499	\$998
2	JBL Home Theatre	\$499	\$998
2	Kelvinator 220Lt Fridge	\$639	\$1,278
2	Electrolux 5.5kg Dryer	\$639	\$1,278
1	Bugg BBQ with trolley and cover	\$799	\$799
2	Simpson 8kg FL Wash Machine	\$869	\$1,738
2	Akai 55" TV	\$849	\$1,698
30	TOTAL	\$7,021	\$12,726

36. The Grand Hotel, Junction Hotel, Stoney's, Golden Fleece Hotel, Sugar Gum Hotel and The Cove

QTY	QTY MAJOR PRIZES RRP Total RRP				
2	Dolce Gusto Coffee Machine	\$59	\$118		
2	Instax Mini Camera	\$99	\$198		
2	Lenovo Tablet	\$99	\$198		
2	Propel Star Wars Drone	\$199	\$398		
2	Apple TV	\$209	\$418		
2	Breville Juice Fountain	\$149	\$298		
1	Portable Radio	\$179	\$179		
2	LG 42Lt Microwave	\$319	\$638		
2	Sunbeam Crockpot	\$149	\$298		
2	Kenwood Kmix	\$349	\$698		
2	Xbox One Entertainment Bundle	\$499	\$998		
1	Google Mini Speaker	\$79	\$79		
2	Kelvinator 220Lt Fridge	\$599	\$1,198		
2	Electrolux 5.5kg Dryer	\$639	\$1,278		
2	Simpson 8kg FL Wash Machine	\$869	\$1,738		
2	Akai 55" TV	\$849	\$1,698		
30	TOTAL	\$5,344	\$10,430		

- 37. The total value of the 20 x \$20 venue voucher consolations prizes totals, \$4,000.
- 38. The total value of all prizes aggregated, totals \$120,484.
- 39. The prizes cannot be substituted or modified in any way unless required by law, nor are non-cash prizes redeemable for cash.
- 40. Patrons are responsible for the transport of prizes from the venue.

MISCELLANEOUS

- 41. The Promoter's decision is final in the running of this Promotion.
- 42. The Promoter retains the right to cancel, terminate, suspend or modify this Promotion at any time it sees fit without prior notice to participants.
- 43. The Promoter reserves the right to disqualify any individual who tampers with the application process, who has breached these terms and conditions or the Pegasus Rewards Membership Rules or whom the Promoter deems otherwise ineligible in its absolute discretion.

- 44. The Promoter accepts no responsibility for any tax implications that may arise from the prize winnings. Independent financial advice should be sought.
- 45. To the fullest extent permitted by law, entrants release and will release the Promoter from all claims that the entrant may have or may have had but for this release arising from or in connection with the entrant's participation in the Promotion (including the prizes) and will indemnify and will keep indemnified the Promoter in respect of any claim by any person arising as a result of or in connection with the entrant's participation in the Promotion (including the prizes).
- 46. These terms and conditions are governed by the laws of the State of Victoria and each entrant agrees to submit to the exclusive jurisdiction of the courts of Victoria.